
SAP ABAP table T5BV2 {Percentages SI-part per category employer/employee}

T5BV2

MANDT [CLNT (3)]

RSZCA [CHAR (3)]

RSZKN [CHAR (3)]

RSZDT [CHAR (2)]

ENDDA [DATS (8)]

T000

MANDT [CLNT (3)] T5BV2-MANDT = T000-MANDT 0..N

1

T5B02

MANDT [CLNT (3)]

RSZCA [CHAR (3)]
 T5BV2-RSZCA = T5B02-RSZCA 

0..N

1
T5BV3

MANDT [CLNT (3)]

RSZCA [CHAR (3)]

RSZKN [CHAR (3)]

ENDDA [DATS (8)]

 T5BV2-RSZKN = T5BV3-RSZKN 

0..N

1

T5BV6

MANDT [CLNT (3)]

RSZDT [CHAR (2)]

 T5BV2-RSZDT = T5BV6-RSZDT 

0..N

1


